Grossmont College                                                                            Name: ______________________
MA180        Homework      (section 4.2)                                        Class section no. : _____________
Each HW packet is worth 5 points. You will be graded upon your percentage of completion (not accuracy), but you have to show clear work to get full credit. The answers are either in the textbook or on instructor’s webpage.
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7. Use the graph of f to estimate the values of ¢ that satisfy the
conclusion of the Mean Value Theorem for the interval [0, 8].
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11-14 Verify that the function satisfies the hypotheses of the
Mean Value Theorem on the given interval. Then find all numbers
¢ that satisfy the conclusion of the Mean Value Theorem.
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15. Let f(x) = (x — 3) % Show that there is no value of ¢ in
(1.4) such that f(4) — £(1) = f(©)( — 1). Why does this
not contradict the Mean Value Theorem?
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17. Show that the equation 1 + 2x + x* + 4x* = 0 has exactly
one real root.
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If £(1) = 10 and £'(x) = 2 for 1 < x = 4, how small can
() possibly be?
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25

Does there exist a function f such that £(0) = —1. f(2) = 4,
and f'(x) < 2 for all x?
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1-4 Verify that the function satisfies the three hypotheses of
Rolle’s Theorem on the given interval. Then find all numbers ¢
that satisfy the conclusion of Rolle’s Theorem.
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L f(x) =5 —12x + 3x%  [1.3]
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] Let f(x) %%, Show that f(—1) = f(1) but there is no
number ¢ in (—1, 1) such that f'(c) = 0. Why does this not
contradict Rolle’s Theorem?





